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2| 1 Kk [ <Y | 46
2 K| e | 25
3 & | 2% | 06
4 £ | <3y | 43
5 H o- | 4.4
6 A | <3y | 67
7T XK ] 8.4
8 7K ax 0.8
9 K| a*x | 05
10 £ [<Hy | 1.9
1M £ [ <HY | 2.9
12 H ¥ 1.6
13 A -0~ 5.5
14 k| <HY | 7.1
15 K 53] 7.0
16 K | <Hy | 42
17 & | e | 3.7
18 x| ax | 1.7
19 B | ax% | 40
20 A | <2y | 6.4
21 k| e | 9.2
22 K | e | 10.1
23 K mo| 12.6
248 & 3] 7.8
25 &+ | 2% | 1.9
26 H | <3Y | 40
21 R -0~ 1.9
28 k| e | 4.3
29 K a% 0.8
R8st

B5E :22836H (1A1/B~2A148%)
5% : 6,768 (1A17H~2A148%)

HEE - HE=E
(/) v
48.7 48.0
42. 4 38.4
46.9 43.6
50. 6 41.3
47.2 43.5
42.1 35.6
40.0 36.9
40. 6 36.3
51.6 46. 6
49.0 47.5
51.0 42.4
44.7 42.2
36. 6 30.8
4.7 38.4
4.7 36.5
37.9 32.6
42.6 37.8
32.1 23.9
48.2 41.7
50. 4 38.5
43. 6 36. 2
33.0 21.2
39.5 37.0
33.8 29.2
44.3 43.7
38.8 31.8
37.9 29.3
35.7 31.9
43.2 42.3

1235.8 = 1091.1

20125 2A7
() - (@) (=) x48

0.7 0
4.0 182
3.3 82
9.3 221
3.7 206
6.5 648
3.1 24
4.3 278
5.0 202
1.5 34
8.6 254
2.5 168
5.8 451
3.3 360
5.2 326
5.3 437
4.8 840
8.2 966
6.5 336
11.9 403
1.4 682
5.8 874
2.5 24
4.6 682
0.6 0
1.0 398
8.6 624
3.8 113
0.9 0
10,075




